ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.012.19226

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: BURKE

VARIOUS INTERSTATE, PRIMARY AND SECONDARY **ROUTE NO.:**

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PR Stewats	OJECT. Grading An	d Hauling	BID BOND IS N	NOT REQUIRED.
NAME OF BIDDER	,			
3420 NL 8	Germanton	NE 276	019	
ADDRESS OF BIDDER	Site o-		700 100	alle and

Contract Number:

D13POC.012.19226

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Burke

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the *Standard Specifications*, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$0,00	#O,00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$115,00	\$57,500
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$125,00	\$62,500
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$0.00	\$0,00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$150,00	\$22,500
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	#175,00	B26,250
_	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$125,00	\$62,500

TOTAL BID FOR PROJECT: \$231,250

Contractor: Stewarts brading + Hauling Inc
Address: 3420 NC 8/105 Huy Carmanton NC 27019
Phone: 336 467 3421 Federal Id: 20 8410548
Contractor's License Number: 6898/
Authorized Agent: Adam Stewart Title: Treasure
Signature: Date: Date: Z72-Z5

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.012.19226

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

BURKE

ROUTE NO .:

VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

	or bib of billion
THIS IS A ROADWAY PROJECT. KKR Enterprise L	BID BOND IS NOT REQUIRED.
NAME OF BIDDER	P. 1 -1 1/ 1/1 N/C N/2
ADDRESS OF RIDDER	Noad laybersulle Mil. 2881

Contract Number:

D13POC.012.19226

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Burke

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the *Standard Specifications*, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	96,00	\$48,000.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	101,00	\$ 50,500.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	105,00	\$ 52,500,00
4	Quint-Axle Dump Truck W/ Operator	500	HR	105,00	\$ 52,500.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	125,00	\$ 18,750,00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	155.00	\$ 23,250,00
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	135,00	\$ 67,500,00

Contractor: KKR Enterprise	
Address: 367 Frank Rober Rosel Phone: 928-234 B708 Fede	Taybosville N.C. 28681
Phone: <u>928-234-8708</u> Fede	eral Id: 33-15/9553
Contractor's License Number:	
Authorized Agent: Kovin Kichey	Title: <u>owner /president</u> Date: <u>3-4-25</u>
Signature:	Date: 3-4-25

TOTAL BID FOR PROJECT:\$313,000,00

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.012.19226

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: BURKE

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Kelly Logistics and Transportation LLC
NAME OF BIDDER

130 E Court St unit 2/36 Rutherfordton, NC 28/39

Contract Number:

D13POC.012.19226

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Burke

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the *Standard Specifications*, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$10000	\$ 50,000 =
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$11000	\$ 55,000 00
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$11500	\$ 57,500 00
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$12000	\$ 60,000 00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$12000	\$ 18,000 00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$120,00	\$ 18,000 06
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$ 13000	\$ 65,000.00

Contractor: Kelly Logistics and Transporta	ction LLC
Address: 130 E court St unit 2136	Rutherfordton, NC 28139
Phone: <u>828-919-0584</u> Federal Id:	84-5111264
Contractor's License Number:	
Authorized Agent: Tamiko Kelly	Title: Owner
Signature:	Date: 3/3/2025

TOTAL BID FOR PROJECT: \$ 323,500 ==

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.012.19226

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

BURKE

ROUTE NO .:

VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

Contract Number:

D13POC.012.19226

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Burke

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	98-	49000-
2	Tri-Axle Dump Truck W/ Operator	500	HR	100-	54000-
3	Quad-Axle Dump Truck W/ Operator	500	HR	118-	59000-
4	Quint-Axle Dump Truck W/ Operator	500	HR	128-	6400-
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	128-	19200-
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	128-	19200-
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	128	64000-

TOTAL BID FOR PROJECT: 328400-
Contractor: Shown Lacky Excavating LC Address: 309 Juhnson Farm RD trictlenite No 28636
Phone:
Authorized Agent: Kari G Lockes Title: pres Signature: Date: 5/4/25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.012.19226

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: BURKE

ROUTE NO .: VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO CONTLY WITH ALL OTHER ATTICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

Richer ADDRESS OF BIDDER

Contract Number:

D13POC.012.19226

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Burke

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	107-	53500-
2	Tri-Axle Dump Truck W/ Operator	500	HR	1177-	58500-
3	Quad-Axle Dump Truck W/ Operator	500	HR	127-	63500-
4	Quint-Axle Dump Truck W/ Operator	500	HR	137-	68500-
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	137-	20550-
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	137-	20550-
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	137-	68500-

TOTAL BID FOR PROJECT:	353600.00
Contractor: CLATE LLC	
Address: 415 Richey Farm	n Taylorsville NC 28681
Phone: 8283128276 F	
Contractor's License Number: 105427	
Authorized Agent: Cascy Richy	Title:Ous
Signature:	Title:

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.012.19226

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: **BURKE**

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY AND SECONDAR

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Contract Number: FA Number:

D13POC.012.19226 To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Burke

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	100	50000
2	Tri-Axle Dump Truck W/ Operator	500	HR	125	62500
3	Quad-Axle Dump Truck W/ Operator	500	HR	125	62500
4	Quint-Axle Dump Truck W/ Operator	500	HR	150	75000
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	200	30000
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	200	3000D
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	200	100000

TOTAL BID FOR PROJECT: \$\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
Contractor: Little is Enterprise LLC Address: P. D. BOX - 1527 Forest City NC 28043
Address: P. D. BOX - 1527 Forest City NC 28043
Phone: 828-429-5722 Federal Id: 46-2992143
Contractor's License Number:
Authorized Agent: JAMES CAMP Signature: Date: 3/5/25
Authorized Agent: JAMES CAMP Signature: Date: 3/5/25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.012.19226

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: BURKE

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Shearon Trucking and Excavating LLC

NAME OF BIDDER

6125 Hwy 41A, Pleasant View, TN 37146

Contract Number:

D13POC.012.19226

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Burke

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the Standard Specifications, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	\$125.00	\$62,500.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$150.00	\$75,000.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$160.00	\$80,000.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$160.00	\$80,000.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$150.00	\$22,500.00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	\$180.00	\$27,000.00
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	\$180.00	\$90,000.00

ontractor: _		Shearon 7	rucking and Exc	avating LLC	
ddress:		6125 Hwy	41A, Pleasant Vi	ew, TN 37146	
hone:	(615) 98	2-9892	Federal Id:	92-26	64162
ontractor's	License Num	ber:	N/A		
authorized A	Agent:	Joey She	aron	Title:	Owner
ignature: /		2		Date:	

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.012.19226

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: BURKE

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.	Phil Rogers Horsemanshi
NAME OF BIDDER	
492 HUSCUSSON Dr	Franklin NE 28734

Contract Number:

D13POC.012.19226

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

TOTAL BID FOR PROJECT: # 437, 500,00

County:

Burke

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	125.00	62,500.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	150,00	75.000.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	150.00	75.000.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	180.00	90.000,00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	150.00	22.500.00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	150.00	22.500.00
	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	180.00	90,000.00

Contractor: Phil Rogers Horsemanship
Address: 492 HUSCUSSON Franklin NC 28734
Phone: 828-200-2901 Federal Id: 33-2712381
Contractor's License Number:
Authorized Agent: Phil Rogers Title: owner
Signature: Phil Roger Date: 2/23/202.

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13PC

D13POC.012.19226

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

BURKE

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAME OF BIDDER

BIDDERU

290

armony NC

Contract Number:

D13POC.012.19226

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Burke

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the *Standard Specifications*, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	150,00	75,000.00
2	Tri-Axle Dump Truck W/ Operator	500	HR	150,00	75,000.00
3	Quad-Axle Dump Truck W/ Operator	500	HR	150,00	75,000.00
4	Quint-Axle Dump Truck W/ Operator	500	HR	150.00	75,000.00
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	250,00	37,500,00
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	250.00	37,500.00
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	250,00	125,000.00

Contractor: Country Boy Landscaping, Inc. Address: P.O. Box 390 Harmony, N.C. 28634
Phone: $704-934-9330$ Federal Id: $56-2157111$
Authorized Agent: Chris Carner Title: President
Signature:

TOTAL BID FOR PROJECT: \$500,000.00

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.012.19226

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY:

BURKE

ROUTE NO.:

VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION:

VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT. PAW C. D. Mard DABID BOND IS NOT REQUIRED.
FOOTHIJS MASONY + EVCAVATION, LLC
NAME OF BIDDER

Contract Number:

D13POC.012.19226

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Burke

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

LINE#	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	Tandem-Axle Dump Truck W/ Operator	500	HR	* 175.	\$81,500
2	Tri-Axle Dump Truck W/ Operator	500	HR	\$175.	\$ 87,500
3	Quad-Axle Dump Truck W/ Operator	500	HR	\$ 175	\$ 87,500
4	Quint-Axle Dump Truck W/ Operator	500	HR	\$ 200	\$ 100,000
5	Road Tractor w/ Flatbed Trailer & Operator	150	HR	\$200	\$ 30,000
6	Road Tractor w/ Lowboy Trailer & Operator	150	HR	# 200	\$ 30,000
7	Road Tractor w/ 50 Ton Dump Trailer & Operator	500	HR	#200	\$ 100,000

TOTAL BID FOR PROJECT: #522,500.
Contractor: Paul L. Dillard DBA: Foothills Masony + Excavation Address: 698 Sam Poole LN Taylorsville, NC 2868) Phone: 828-228-3175 Federal Id: 56-2177862
Contractor's License Number: Authorized Agent: Jall L. Dillard Title: OWNER Signature: Date: 2-17-25

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: MARCH 5, 2024 AT 2:00 PM

CONTRACT ID: D13POC.012.19226

WBS ELEMENT NO.: VARIOUS

FEDERAL AID NO.: TBD

COUNTY: BURKE

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY AND SECONDARY

ROUTES

LOCATION: VARIOUS LOCATIONS

TYPE OF WORK: PROVIDE HAULING EQUIPMENT UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

The Freedom Shield LLC

NAME OF BIDDER

P.O. Box 112 Skyland, NC 28776

D13POC.012.19226 Burke

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION

BID FORM

Contract Number:

D13POC.012.19226

FA Number:

To Be Determined

WBS Element:

Various

Description:

Provide Hauling Equipment Upon Request

County:

Burke

(PRICES ARE FOR ONE (1) PIECE OF THE SPECIFIED EQUIPMENT)

NOTE: In accordance with section 102-8 of the *Standard Specifications*, a unit price left blank or marked "Not Applicable" will be considered an unbalanced bid and will be subject to rejection. A unit price of Zero Dollars (\$0.00) is a valid bid price and will be considered as such.

LINE# DESCRIPTION QTY UNIT **UNIT PRICE** AMOUNT BID \$182 \$91000 Tandem-Axle Dump Truck 1 W/ Operator 500 HR Tri-Axle Dump Truck W/ \$189 \$94500 Operator 2 500 HR \$194 \$97000 Quad-Axle Dump Truck W/ Operator 500 3 HR Quint-Axle Dump Truck W/ \$309 \$154500 Operator 500 HR \$96450 \$643 Road Tractor w/ Flatbed Trailer & Operator 5 150 HR \$643 \$96450 Road Tractor w/ Lowboy Trailer & Operator 6 150 HR \$643 \$321500 Road Tractor w/ 50 Ton Dump Trailer & Operator 7 500 HR

TOTAL BID FOR PROJECT: \$951,400	
Contractor: The Freedom Shield	
Address: P.O. Box 112 Skyland, NC 28776	
Phone: 937-397-9630 Federal Id: -	
Contractor's License Number:	***************************************
Authorized Agent: Samuel Sell	Title: <u>CEO</u>
Signature: Daniel Bell	Date: <u>2/28/2025</u>